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QUESTION 1

What are three purposes of a PSNP? (Choose three.)

A. to ensure a neighbor is still in the Up state

B. to request a copy of a missing LSP on a broadcast network

C. to acknowledge LSPs from a neighbor on a point-to-point network
D. to maintain the link-state database synchronization

E. to tear down an adjacency

Correct Answer: BCD

QUESTION 2

Which two steps are required for RIP to redistribute IS-IS routes? (Choose two.)
A. create a redistribution policy accepting the IS-IS routes

B. create a redistribution policy accepting the RIP routes

C. apply the redistribution policy to RIP as export

D. apply the redistribution policy to RIP as import

E. apply the redistribution policy to IS-IS as import

F. apply the redistribution policy to IS-IS as export

Correct Answer: AC

QUESTION 3

Given the following configuration: interfaces { s0-0/0/0 { unit O { family inet { address 10.10.10.1/24; } } } s0-0/0/1 { unit O
{ family inet { address 20.20.20.1/24; } } } 100 { unit O { family inet { address 192.168.1.1/32; } } } Which is considered an
exception packet?

A. IP packet addressed to 10.100.100.10

B. ICMPtraceroute packet with TTL setto 5

C. IP packet with the Router Alert option set

D. ICMP echo request addressed to 172.16.1.1

Correct Answer: C
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QUESTION 4

Which command ensures that a configuration file on a backup Routing Engine is identical to the file on the primary
Routing Engine?

A. commit check

B. commit confirmed
C. commit synchronize
D. commit and-quit

Correct Answer: C

QUESTION 5

In the following output from a show bgp summary command: Peer AS InPkt OutPkt OutQ Flaps Last Up/Down ????
192.168.16.1 65412 39 40 0 0 18:41 0/0/0 What do the last three numbers of 0/0/0 indicate?

A. Established/Received/Damped
B. Received/Active/Damped

C. Established/Active/Received
D. Active/Received/Damped

Correct Answer: D

QUESTION 6

Given the following configuration snippet:

[edit protocols bgp] import remove-comm; group peer- 65521 { type external; export [ my-cust-tag add-as-path ];
peer-as 65221;

neighbor 192.168.20.1 { import [ gold-cust silver-cust bronze-cust ];
export add-metric; }

Which policy will be applied to inbound routes from this BGP neighbor?
A. add-metric

B. remove-comm

C. my-cust-tag

D. gold-cust

Correct Answer: D
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QUESTION 7

How can you identify all routes that are more specific than 10.0/16, excluding the exact match?
A. route-filter 10.0/160rlonger

B. route-filter 10.0.0/17 longer

C. route-filter 10.0.0/17upto /32

D. route-filter 10.0/16 longer

Correct Answer: D

QUESTION 8

On what destination port in the layer 4 header does BGP listen?
A. TCP port 179

B. UDP port 179

C. TCP port 169

D. UDP port 169

Correct Answer: A

QUESTION 9

What is the first step in BGP route selection?

A. The local router prefers the route from the peer with the lowest peer ID address.

B. The router first verifies that it has a route to the BGP Next Hop IP address.

C. The local router prefers the route learned from an EBGP peer over a route learned from an IBGP peer.
D. The local router prefers the route with the shortest AS_PATH.

Correct Answer: B

QUESTION 10
What are three characteristics of RIPv1? (Choose three.)

A. supports simple password authentication
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B. broadcasts messages between neighbors
C. performsclassful routing

D. includes prefix length in updates

E. implements poison reverse

Correct Answer: BCE

QUESTION 11

Which RSVP object assigns a label to the LSP?
A. Label Object

B. Label Assign Object

C. Record Route Object

D. Label Request Object

Correct Answer: A

QUESTION 12

What type of hop in an ERO must be directly connected to the previous hop?
A. partial

B. full

C. loose

D. strict

Correct Answer: D

QUESTION 13

For which two functions is the Routing Engine responsible? (Choose two.)
A. JUNOS software operation

B. routing protocol control

C. packet forwarding

D. queuing functions

Correct Answer: AB
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QUESTION 14

How many prefixes match the statement route-filter 192.168/16 through 192.168.128/17 ?
A. 128

B.1

C.2

D. 127

Correct Answer: C

QUESTION 15

The monitor traffic command closely resembles what UNIX based utility?
A. passwd

B.Is -a-l

C. tcpdump

D. ps -x

Correct Answer: C
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